

$$a_1 + a_1 q = 21 \rightarrow a_1 + a_1 q^3 = 21 \rightarrow a_1(1+q^3) \rightarrow \frac{21(1+q^3)}{q^3(1+q)} = \frac{21}{1+q} = \frac{V}{1+q}$$

$$a_1 + a_1 q = 12 \rightarrow a_1 + a_1 q^3 = 12$$

$$a_1(1+q)$$

$$\frac{(1+q)(q^3-q+1)}{q(1+q)} = \frac{V}{1+q} \rightarrow 3(q^3-q+1) - Vq \rightarrow 3q^3 - 3q + 3 - Vq = 3q^3 - 10q + 3 = 0$$

$$q = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \rightarrow \frac{10 \pm \sqrt{100 - 36}}{6} \rightarrow \frac{10 \pm 8}{6} \rightarrow q = \frac{18}{6} = 3 \rightarrow a_1 = 1 \rightarrow 1, 3, 9, 27$$

$$a_1 + a_1 q + a_1 q^3 = 12 \rightarrow$$

$$a_1 \times a_1 q \times a_1 q^3 = 27 \rightarrow a_1^3 = 27 \rightarrow a_1 = 3 \rightarrow a_1 = 3 \rightarrow a_1 q = 9 \rightarrow a_1 q^3 = 27$$

$$a_1 q = 9 \rightarrow a_1 = 3$$

$$\Delta \rightarrow \frac{10 \pm \sqrt{100 - 36}}{6} = \frac{10 \pm 8}{6} \rightarrow \frac{18}{6} = 3$$

$$q = 3 \rightarrow a_1 = 1, 3, 9$$

$$a_1 \left(\frac{q^n - 1}{q - 1} \right) = \frac{q^n - 1}{q - 1} = 27 \rightarrow a_1 = 1$$

$$1 \times 3 \times 9 \times 27 = 27 \rightarrow 1, 3, 9, 27$$

$$a_1, a_1 q, a_1 q^2, a_1 q^3, a_1 q^4$$

$$a_1 q - a_1, a_1 q^2 - a_1 q, a_1 q^3 - a_1 q^2, a_1 q^4 - a_1 q^3$$

$$a_1(q-1), a_1 q(q-1), a_1 q^2(q-1), a_1 q^3(q-1), a_1 q^4(q-1)$$

$$a_1(q-1) = 27 \rightarrow a_1 = 1$$

$$a_n = a_1 + (n-1)d$$

$$a_1 + (a_1 + d) + (a_1 + 2d) + \dots + (a_1 + (n-1)d)$$

$$\rightarrow \frac{(n-1)(n)}{2} = \frac{n^2 - n}{2} \rightarrow n a_1 + \frac{n^2 - n}{2} d \rightarrow \frac{n}{2} (2a_1 + (n-1)d)$$

$$\rightarrow s_n = a_1 + a_1 q + a_1 q^2 + a_1 q^3 + \dots + a_1 q^{n-1} \times q, q s_n = a_1 q + a_1 q^2 + a_1 q^3 + \dots + a_1 q^{n-1} + a_1 q^n$$

$$q s_n - s_n \rightarrow (q-1) s_n = a_1 q^n - a_1 \rightarrow a_1 (q^n - 1) \rightarrow s_n = \frac{a_1 (q^n - 1)}{q - 1}$$